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Essential Math Skills – Grade 4 (Practice 3)

• multiplication

A. Multiply the numbers.

B. Use place value to multiply the numbers.

C. Multiply.

1. 7 x 3 =  2. 4 x 6 =  3. 2 x 9 = 

4. 5 x 8 =  5. 6 x 3 =  6. 4 x 7 = 

7. 9 x 4 =  8. 5 x 8 =  9. 6 x 6 = 

1.  3 x 1 = 

 3 x 10 = 

 3 x 100 = 

 3 x 1000 = 

2. 7 x 2 = 

 7 x 20 = 

 7 x 200 = 

 7 x 2000 = 

2 7
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5 7
8

4.

x

5. 49 x 3 = 

6. 71 x 4 = 

7. 63 x 2 = 

8. 38 x 6 = 

9. 29 x 2 = 
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Essential Math Skills – Grade 4 (Practice 3)

D. Find the number of each item.  Show your work.

1. How many pencils are there in 7 boxes?

 There are  pencils.

2. How many correction pens are there in 36 packs?

 There are  correction pens.

3. How many metres of ribbon are there in 9 rolls?

 There are  m of ribbon.

Check the pair of numbers that gives the greatest product.

A  82 x 5 B  25 x 8 

C  52 x 8 D  85 x 2
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Essential Math Skills – Grade 4 (Practice 3 – Answers)

• multiplication

A. Multiply the numbers.

B. Use place value to multiply the numbers.

C. Multiply.

1. 7 x 3 =  2. 4 x 6 =  3. 2 x 9 = 

4. 5 x 8 =  5. 6 x 3 =  6. 4 x 7 = 

7. 9 x 4 =  8. 5 x 8 =  9. 6 x 6 = 

1.  3 x 1 = 

 3 x 10 = 

 3 x 100 = 

 3 x 1000 = 

2. 7 x 2 = 

 7 x 20 = 

 7 x 200 = 

 7 x 2000 = 

2 7
3

1.

x
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5

3.

x

7 4
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x

5 7
8

4.

x

5. 49 x 3 = 

6. 71 x 4 = 

7. 63 x 2 = 

8. 38 x 6 = 

9. 29 x 2 = 
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Essential Math Skills – Grade 4 (Practice 3 – Answers)

D. Find the number of each item.  Show your work.

1. How many pencils are there in 7 boxes?

 There are  pencils.

2. How many correction pens are there in 36 packs?

 There are  correction pens.

3. How many metres of ribbon are there in 9 rolls?

 There are  m of ribbon.

Check the pair of numbers that gives the greatest product.

A  82 x 5 B  25 x 8 

C  52 x 8 D  85 x 2

24 x 7 = 168

36 x 2 = 72

13 x 9 = 117

168

72

117

4


